LS

___fleet

Mack Front Suspension - CH/CL600 Series - 3.5" Wide

45

= -

(S =
~

&5
r 4 '
10

Key 16 - Shackle Kit; Urethane

Crion Sories

4 M“\:

CHE0O smi;-\:@? 13
: 14|

0)
f'”ﬁ

12
13
CL600 Series

e

£

14 45
/(
ﬁ\m
13
11

Call us if you can't find or identify the part you need



Mack Front Suspension - CH/CL600 Series - 3-1/2"

Wide
Part # Description OEM # Price Note
21 2 Leaf Parabolic Spring 2QK4100 /
62-1044 (PD/2/PD) 25175027
62-1044 - Premium US* $310.20
62-1044 - Economy
Import** $229.50
21 3 Leaf Parabolic Spring 2QK3435M /
62-968 (PD/3) 25175026 _
62-968 - Premium US* $320.09
62-968 - Economy
Import** $220.74
1 M1019 Hanger, Threaded 51QK5110M $118.99
1 M1029 Hanger, Rubber Bushing ~ 51QK5110M2  $114.51
1 M1027 Hanger, Rubber Bushing 51QK5110M4 $114.85 Heavy Frame
2 Hanger; Threaded 51QK5130M TB-69 Threaded
M6251 Bushing $112.46  Bushing
2 M6253 Hanger; Rubber Bushing ~ 51QK5130M2 $119.82 RB-189 Bushing
2 M6257 Hanger; Rubber Bushing 51QK5130M4 §133.37 RB-189 Bushing
2 Hanger; Threaded 51QK5130M3 TB-69 Threaded
M6255 Bushing $124.22  Bushing
3 Bushing; 24mm ID x 10QK253M Metric Bushing
MR622 48mm OD x 89mm Lg $28.57
4 Bolt; M24 - 3.0 x 200mm 43RU297M
M5316 Lg $22.47
LNC24MM  Nut, Lock; M24-3.0 171AM8 $8.99  Use w/327-481
Bushing; 1 1/4"ID x 1 10QK229A w/Grease
MMB4 1/2"0OD x 3 3/16"Lg $17.33  Grooves
6 Bushing; 1 1/4"ID x 1 Optional
OGB-RNI 1/2"0D x 3 1/2"Lg $9.98
7 Spring Pin; 1 1/4"0OD x 6 44QK173B Models R & RD;
1/4"Lg x 3/4" c/e w/ 3 1/2" Wide
M4984 $13.22  Springs
9 Seal 88AX428 Use w/MB-1
MMCK46 $1.48  Bushings
10 Bushing; 1 1/16"ID x 1 10QK254M Metric Bushing
7/8"0OD x 3 3/8"Lg w/Double Lock
MR624 $46.38  Grooves

Call us if you can't find or identify the part you need



11 Bushing; 1 3/4"0OD x 3 10QK148A
MTB162 1/2"Lg x 1 3/8"-6 Thread $11.73
12 Spring Pin, Threaded; 1 44QK26A
M5266 3/8"-6 x 6 9/16"Lg $16.96
13 Seal 88AX423P3 Use
w/Threaded
MMCK44 $2.55 Pins
14 Side Bar; 6 5/16"Lg x 4" 22QK39301
c/cx11/4"Thk, 1 1/16"
M876 Pin Holes $20.71
14 Mm879 Side Bar; 4 1/2" ¢/c 22QK39301P2 $31.88
14 M62186 Side Bar; 5" ¢/c 22QK311M $26.22
15 F120300GR  Bolt Assembly; 1/2"-20 x Incl. 334-538
8 3"Lg $4.44 Bolt & Hdwe.
16 Kit, Shackle; Urethane $0.00
17 A83215 Shock Absorber 14QK2113 $68.12
17 A85005 Shock Absorber 14QK396 $71.78
17 A85320 Shock Absorber 14QK392AM2 $73.50
17 A85321 Shock Absorber 14QK392NM2 $68.99
18 AUBKS8153- Kit, U-Bolt; Round Bend, 7QK2170P2/P 3/4" x 3 9/16" x
104 Grade 8 3 $2396 101/2"R
18  AUBKS8153- Kit, U-Bolt; Round Bend, 3/4" x 39/16" x
124 Grade 8 $27.26 121/2"R
19 Spacer; 31/2" x 5 3/4" x 13QK244AP8
M1968 1" $16.57
19 Spacer; 31/2"x53/4"x1 13QK244AP10
ME16969 1/2" $39.34
19 Spacer; 31/2" x5 3/4" x 2 13QK244AP9,
ME16965 " $28.13
19 Spacer; 31/2" x5 3/4" x 2 13QK244AP
ME16215 1/2" $36.02
19 Spacer; 31/2" x5 3/4" x 13QK244AP22
ME16966 3" $61.15
19 Spacer; 31/2" x53/4" x3 13QK244AP12
ME16967 1/2" $61.15
19 Spacer; 31/2" x5 3/4" x 13QK244AP23
ME16968 4" $59.38
20 M62195 Shock Eye 20QK3328M $64.45

* Premium version with 12 month warranty.
** Economy version with 6 month warranty.

Call us if you can't find or identify the part you need



